

**Rezultatul calculului**  
 **$5 - 5 \cdot (12 - 3 \cdot 4)$**   
**este egal cu**

$$\begin{aligned} &= 5 - 5 \cdot (12 - \underline{\quad}) \\ &= 5 - 5 \cdot (\underline{\quad}) \\ &= 5 - \underline{\quad} \\ &= \end{aligned}$$

**Rezultatul calculului**  
 **$8 - 2 \cdot (12 - 3 \cdot 4)$**   
**este egal cu**

$$\begin{aligned} &= 8 - 2 \cdot (12 - \underline{\quad}) \\ &= 8 - 2 \cdot (\underline{\quad}) \\ &= 8 - \underline{\quad} \\ &= \end{aligned}$$

**Rezultatul calculului**  
 **$5 - 5 \cdot (13 - 3 \cdot 4)$**   
**este egal cu**

$$\begin{aligned} &= 5 - 5 \cdot (13 - \underline{\quad}) \\ &= 5 - 5 \cdot (\underline{\quad}) \\ &= 5 - \underline{\quad} \\ &= \end{aligned}$$

**Rezultatul calculului**  
 **$5 - 2 \cdot (10 - 2 \cdot 5)$**   
**este egal cu**

$$\begin{aligned} &= 5 - 2 \cdot (10 - \underline{\quad}) \\ &= 5 - 2 \cdot (\underline{\quad}) \\ &= 5 - \underline{\quad} \\ &= \end{aligned}$$